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GENERAL INSTRUCTIONS TO THE EXAMINEES :
(1) Thremefi gdyem 3199 T97-U9 T A7 Afemid: forg |

Candidates must write first his / her Roll No. on the question paper compulsorily.

2) aeft T HE AR E |

All the questions are compulsory.

(3) TS YT HT I < TS IA-YfEaeht H & ford |

Write the answer to each question in the given answer-book only.
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(4) T w1 W 3T @Ug €, 39 @t o I U Wi B ford |

For questions having more than one part, the answers to those parts are to be written

together in continuity.

(5) -9 o gl 9 37Sh TR A fereft wepw 6t Ffe/ T/ fatrenymg g1 W &g vy &y
! H&l 7 |
If there is any error / difference / contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.

(6) WS pogiic) I WP W
A 1-11 1
Cl 12 -21 3
q 22 - 27 4
Q 28 - 30 5
Section Question Nos. Marks Per Question
A 1-11 1
B 12 -21 3
C 22 - 27 4
D 28 — 30 5

(7) I SRS 27 | 30 | 3Tk foehed 8 |

There are internal choices in Q. No. 27 to 30.
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quEg - A
SECTION - A

AR U g Fferd T=sirsH ohT 918 fIRaT |

Write the name of enzyme secreted by salivary gland.

e Th g 1 A fifau |

Write the name of universal donor blood group.

Tehted it w1 T T fafaw |

Write General formula of alkyne series.

T fepatiare et (1 kWh) H S[e ATrehi shi @& feTfa |

Write joule units in one kilowatt hour (1 kWh).

AT 9RO forg Tsa | fRd 8 2

Manali Sanctuary is situated in which state ?

% 6l Tk A 1 AH fARaT |

Write the name of one Kharif crop.

forgar o Sg-ferfererar & $e fopem aa A & 7

How many hotspots of biodiversity are in the world ?
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8.  TFAdTY HIUH a7l I T A fAIRad |
Write the name of instrument which is used to measure the blood-pressure. 1
9. Wl gy H 4R I aret Wicweft st A fafa |
Write the name of an antibody present in mother’s milk. 1

10. 7% TERATIRIRAT UTT o YR T i & ok T SN Fohal ST B 7

Which vaccine is used in the treatment of erythroblastosis foetalis ? 1

11. U g uerd o g s o fafir= =meres ari & STy -1e % &% (A) Td YTy & e

% (IRQ) d-18Y |

Draw graph between area of cross-section (A) and resistance of different conducting

wires which are made by same material having equal length. 1

T -7

SECTION - B

12. 9t 3t ST foadien Sfaadt 8 Had & ? foheal Gl WIfeaal ol TH3sY |

What are internal tectonic forces of earth ? Explain any two forces. 1+2=3

13, Sffered o8 g 2 ¢ AHE SRR H 9T ST ST &) STeRIN o 7 [TRaT |

What is fossil ? Write the name of two vestigial organs found in human body. 1+1+1 =3
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14, ¥RA o YUH 3=q1&T I T A9 TARIT | YR g0 Bi T 3UUE! ol Hawd gAY |

Write the name of first spacecraft of India. Explain the importance of satellites launched
by India. 1+2 =3

15. (31) vam9 faveivss g i 8 fen) /1= § Uoehlged ITaT ST 8, ol SUea 2 ?
(W) “wgeh guen fuan” = forgari i awgsd |

(a) What quantity of alcohol in body is required for punishment when measured by

breath analyzer ?

(b) Explain the points of “Road Safety Education”. 1+2 =3

16. (31) ToreToqSIia sh1g g1 T <6 AT fARaT |
(9) TR H U ST ATl Toehel 98 oh1 A1 fIRaT |
(|) TR I | g aTeft g g1 fafaw |

(a) Write any two diseases caused by virus.
(b) Write the name of alkaloid found in tobacco.

(c) Write two harmful effects of chewing tobacco. “+h+t1+%+1%2=3

17. Tm=fafad o #15 ue = forfaw -

(31) YHTcHe: Ud RO 3T

(F) SSH-3uee vd foa- 3Taeed

(|) ot T Toremod Tffsha

Write any one difference between the following :
(a) Positive and Negative catalyst.

(b) Thermolysis and Electrolysis.

(c) Addition and Replacement reaction. 1+1+1=3
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18. M W U T AT g ? HIHTISTeh STi+eh! o &1 TY@ Tehi o AT foAfa |

What is the meaning of Jhoom cultivation ? Write two main components of social

forestry. 1+1+1=3

19. “foramsat 99" o 919 @ forll STHT ST @ 7 6. 9= "1 ger) st aEatd fasme 8 Fes fofigu |

Who is known as Missile man ? Give the role of Dr. Panchanan Maheshwari in field of

botany. 1+2=3

20. Tr=fafaa Jftest o TUPAC 9™ fafaw

Write [IUPAC names of the following compounds :

(a) CH,— c| = CH,
CH,

(b) CH,-CH =CH - CH,

©) CH3—(|JH—CH2—CH3 1+1+1=3
Cl

21. {UfE fr8 wgd & ? STUNRE GauH o 2 dliehl ol THTE |

What is waste ? Explain two methods of waste management. 1+1+1=3
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qgE -9

SECTION - C
22. (31) WM e o Al ol M AR |
(9) AYASET-ITeH & ITH & 3cTe] i ey |
(|) 1 hie GRI T I 9T ohdl SHIT A1 8 7

(a) Write the name of silk worm Larva.
(b) Write the two products of Apiculture.

(c) How the thread of silk is made by silk worm ? 1+%+%+2=4

23, HorH THU T2 ? 99 F, HIEI I TR0 THT TR STk | HUAT A1 3, a1 I Fard
H TEI0-TEY I S -ET 37T i THT |

What is reciprocal cross ? Explain the phenotypic and genotypic ratio obtained in

offsprings, when F, generation is crossed with Homozygous dominant parents. 1+3=4

24, (31) Totore =t @1 97 forfaw | geeht foem foram w1 memsy |

(9) Zn 91q 3! 7 H,SO, § T el TH(H SATfsRaT o1 AHifehd ol S1sY |

(a) Write formula of bleaching powder. Explain its bleaching process.

(b) Draw labelled diagram of chemical reaction of Zn metal with dilute H,SO,. 2+2=4
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25. (37) 379 % Fom 1 TN Hd THT Teh Yeeh FEATTHR €1 ST Ted hidl @

%. 9. I TigA® e NigdiS
(1) 0.50 THRR 29
(ii) 0.75 TEfRR 3 diee

Tk Y807 o foTU ITeTeh dR o1 TTaie [Td shiTT |

X Science

@) 25 QI ATEhm HI TRy FuSed Sl 12 Flee b T da (dell) ¥ Sied & @ 390

15 Tiee o forga o yanfed <l STt & | HuSelt § Sca~ ST b1 I A1 hitetd |

(a) An observer takes two observations as given below, while performing Ohm’s law

experiment :
S.No. Ammeter reading Voltmeter reading
(1) 0.50 Amp. 2 Volt
(11) 0.75 Amp. 3 Volt

Determine resistance of conducting wire for each observation.

(b) Nichrome resistance coil of 25 Q is connected with 12 Volt accumulator cell

(Battery) and current flows through it for 15 minutes. Determine heat produced in

this coil.

2+2=4

26. (31) 40 kg 1 T I&] W Th a1 T T THHT AT | WX /THUE | Fgaht 2 W /THUg &l

a1 8 | 91 g femar R v 3T Shif |

@) K =4 x 103 N/m & fams i v & =i 2 9t wdfifed e 3 & & gfba feufas

Il AT HIT |
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(a) A force is applied upon a body of 40 kg then its velocity increases from

1 metre/second to 2 metre/second. Determine work done by the force.

(b) A spring of spring constant K = 4 x 103 N/m is compressed by 2 ¢cm then determine

potential energy stored in spring. 2+2=4

27. Sa-fafaedr ford ad § 7 @M 9 9fE:- T eI ) g9 |

What is Biodiversity ? Explain the in-situ and ex-situ conservation. 2+2=4

YA/ OR

ek fafaed w8 ? Sa-fafawar @ehe & g1 SRl S aremsy |

What is the genetic diversity ? Explain two reasons of threats to biodiversity. 2+2=4

T € -]
SECTION -D

28. (31) vaua fr@ hEd 8 7

() THE Y98 T I AR o S |
(|) vagd i fshafafe augmsy |

(a) What is respiration ?
(b) Draw a labelled diagram of human respiratory system.
(c) Explain the mechanism of respiration. 1+2+2=5

GG/ OR
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(31) HTETAT | ITTHeh wiiies 37 7 9 fefay |

() HIET S o ol AMT(ehd o S5 |
(F) TG IS <hl T STIEAT3T ohl THSATSY |

(a) Write the name of primary sex organ in female.
(b) Draw a labelled diagram of female reproductive system.

(c) Explain two phases of human reproduction. 1+2+2=5

29. (31) 37ad 9rvfl § forE scAieh o a<al UiEd] GATSTohdl JEfid id @ ?

(§) KT T TR 79 T THY & ST 21T 7, HIT 7

(d) CaH,, NaH, SiH,, A/H,

3I9UH AfTenl § Ca, Na, Si a7 A/ <hl GIISTehdT SaT3d |

(a) Elements of which block shows variable valency in periodic table ?

(b) Why size of anion is greater than its atom ?

(c) CaH,, NaH, SiH,, A/H,
Give valencies of Ca, Na, Si and A/ in the above compounds. 1+2+2=5

JYET/OR

(37) fermei &1 SuegaT o T forfaw |

(&) forelt 3rmad § 919 A TR I W ] AR fohe yehr uftafda giar & ¢ wwor afed
LRI

(@) Tr=fciRaa ai ol 3ok S@d §Y THTY] STThR o 3 H ST HIT :
Na, Cs, Li, K
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(a) Write names of any two metalloids.

(b) How does atomic size changes on moving from left to right in a period ? Explain

with reason.
(c) Arrange the following elements in the ascending order of their atomic size :

Na, Cs, Li, K 1+2+2=5

30. (31) qICT ¥ B 9HI Ut U YA o S qHY I b §J [C@TS <l 7, HR0T T8
HIfT |

(§) o TehTT o 97 faeqaor § &= 39 8 2
(|) TSI o YOI SATTeh T § T aredd & ?

() Ueh 3Tadd o8 § fdfera =1 &1, <24 ol fortur Foet s1s3, Siais fora 3= w38
TRITIE 5 ‘O’ o Hed T & |

(a) The sun is visible a little before the actual sun rise and a little bit after the actual
sunset. Explain the reason.

(b) What does mean by the dispersion of white light ?

(c) What does mean by the total internal reflection of light ?

(d) Draw ray diagram for image formation by concave lens when the object is placed

between infinity and optical centre ‘O’. 1+1+1+2=5

YA/ OR
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(31) O | o= o UT | TR Gl 88 his Uree s Q@S oot &, & ?
(9) <" I &war | =& AT 7 7
(F) TMa A A B AT U R § ?

(T) Ush adet <UUT § Tlfens sl ST, 214 okl fohtor fom a1sa, Sefen fora 39 ashan
%5 ‘C’ T HBIRT F % A fRa g |

(a) A pencil partly immersed in water in a glass tumbler appears askew why ?

(b) What does mean by the power of a lens ?

(c) What is astigmatism in human eye ?

(d) Draw ray diagram for image formation by concave mirror when object is placed

between centre of curvature ‘C’ and focus ‘F’. 1+1+1+2=5
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TSI 91 GRI&T U9 -U= (o1 Afgd)
Hreafies usterr, 2018
T 3Y, g (qorfes : 80)
et & ford wr= fAder -
1. oemeff Fdvem U ¥eT-um W AMid ffarid: ford|
2. ft eT A At gl
3. TP UL BT IR I T3 ITR-FETT A & ford|
4. 5 et § arvaRe @us g, 57 9 & SR e a@rer & ford|
5.
Qug TeT AT 3ih D UL
3 1-11 1
g 12-21 3
q 20-27 4
T 28-30 5
6. U AT 27 | 30 H IdR® fabey gl
Tug-3f Q6: WAT Pl T HeT BT A foTRau| 1
Q1 @R TR ERT AR TRITEH forRay 1 S
M & o1 ! Gh Bl Tp B T g 2l
IR
AR IR GRT WA TTIsH BT AW Srfe 2l ) a7: fieg 3 Sg-Rfudr & got fea aw et §72 1
IR
Q.2: ﬂaaﬂ %fliﬂ(} 1
’ XY | faeg & o1 34 Sta-fafdea awd T &l
IR
‘O’ el g, FAGKT X TE & Q.8: FcaY HIYY gt IF &1 71 forRau| 1
- IR
03 ewre Ao an S G e ! AT HIG ITel T BT A IFTEIET (FATFEAAR) 2
IR
Veeprg A0 1 A R CoHy, o BT 3 Qe: A & qu ¥ R oW a1l e @ A frRaw) 1
Q4: T fpaare 1 KWh) & Sef Tt &1 s fRag) 1 S
+: 5 Fpetidle SRt (1 kWh) 3 o e e 7 % 2y 3 o oY et TRRe T T LA 3
IR
e fpefiate TUer (1kWh) = 3.6 x 10° S Q.10: TH IGATIDHRSAT I & IFIR H BRI Sicb BT IUANT e
ST 872 1
Qs5: T IR o oT A fRuq 87 1 =
IR T IGFATBREAT I F TR § [gC afRRfER™N (anti RhD)

Tl IYIRUY fgrTaet ueer § fRd 2l

& b BT SN T ST 2
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Q.11:

Q.12:

Q.13:

U g ueref g FH s o [ A1 dRI & STIIRI-dIe
F &hd (A) T URRIY & 7Eg AMh (3IRG) 18| 1

TR

& o £, R:J%

TfeRier, R 1

qﬁﬁamj+
17
] 1

AITEIHE (A)>

Yus-q

gedft & eaRe faadfe afeqal o ded €2 5l Q@
arfgat Bt TS| 1+2=3

IR

gt it avaRe RadfFe afemar- a8 erafe faadte

qfear STt o gedt & 3ieR gapx Rl el ¢ T AR A fe@ms

Tel <ot B, 7€ yedht &t e fadifes arfedar sed &1 g

IRy geeft i Faag & A TETE ¥ SufRud a1 | gce i &

them-figet g geaft & HieR SufRa T a_e uqred He &

TR 3T P BRUT BT 2l

31 T STaRe et afddal 39 TR g-

1. SarEmEEt (Volcano)- S8 gedt & 3FeR M aTel! gordel
F PHRO Rl fe et & 9T qUTH Pl hisaR Y3,
g, I g IR AR (e ot g1 o IR 3ifeep T
Tgee™ g oar & ®U § §EX 98 ot 81 gedt Y
T8 R 97 @ F AT et & HROT AT femal T
AT g

2. 4@ (Earthquake)- &4 g &1 37 Y-AaE &
FO A B F g dTelt gTadt | HE BT 81 STel
Ferael A $UT IR BN § I B gy (THRICR) P
2 PH-P A TR @R K IRI AR therd! St
Y R ST MRS A Y DI [AE R UL ¢ Al GAg D!
SA-IE a1 HH IW-ATd gl &1 Y 3T e B

3R geeft i wag R uRac e gl
Sitared fp Ped €7 AFE 9RR § UR S dTel & JrEadS B
9 ferRaul 1+14+1=3

I

ARdl A g gedt &l A[elg P AR &9 Us, ulY qRuT Siig-sig,
S ITIATT TAT 6 b PRI Fdg P 3NN Sa1eq o9 & T d
gRafdd S ST, Sfared g4 dgatra 21

A9 IRR ¥ R ST arel &Y G 9IyiT-

(1) 3feFpet S,

RBSE 2018 Solved Paper 10th Class

Q.14:

Q.15:

Q.16:

Q.17

Science

(2) 31id W UTS ST arelt Yufead|

URd & Y9 IF=aRe I BT 99 faIRayl Rd gRT Ble
IHET BT Heed AT | 1+2=3
IR

URA & YT SRS I HT 919 mivee g

IRA GRT BIS T IWEI &I Hgwd- R GRI Bl T SHEl
A AR SIS & v H wEeaqul SR uTed gl g1 jfS,
R, T, $exe, S, SN 3fS & darer o
39 IRl W AT Ured gt 2l

(37) 99T 49 gRT IRR & fha AT H Tedlger TrRIT ST
g, I qUSHIT 2?
() s [Rem e & Rgail @ FHesd |

IR
(1) 9917 A9 gRT eRR H 100 ml & § 30 mg 3 31fdd
T § Ueeblgel Uil ST 8, d eUsHY B
(¥) P JRaT S I fmg Friferled 2 -
(1) xdfeft a1 o9 7or | difsd fed @ iy § e T8
eI T 1Ryl
(2) R YR AT el <eT T ATy
(3) <ifB@rer § arg il afy & T =Rl
(4) IR ufea argal ot s whE A et @Ryl i< fis

1+2=3

THIF gfSe Pl gaet T ¢
(5) P femrg 3 &t fRufy & dI} o vged oivg a1 SR
BT FANT BT TRV
(6) 3MeRfHT & FHT TUT Al R A9 Aaurigds met
FeA! TR
(7) aE T AT HEIS B BT SUAN gl BRAT
EIRY
(31) fasTuTi=a 18 < 1 & M ferRau
(3) T=1E | IR ST dTel Tebeli e &1 A forRag)
() TEIE F9 | g aTell &1 g forRag|
“tbh+1l+h+%=3
I
(1) farroy St <F i FreferRad §-
(1) fevergfes (2) cRIBIgS|

(3) TG H IR TH ATl WeballIs Feblied Tebaliae gl
H
(F) TG I b HROT B atelt & g e -
(1) T 1g & AR Ha & §g, S, Tt a Hhel oS
BT IR D AEHEAT §¢ STt gl
(2) TR B URL S ater e ufteal & art @
e PR <ar g1 PR Yaes (B.P.) 9 &8 T
(Heart Beat) & < §g Sl g1

: FforRed o @18 & oeR forRau-

(37) YATHD TG KUTTCHSD IHRD
(9) SHIT-3Ee T& el -smecH
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Q.18:

Q.19:

Q.20

() G wg fawenmoe arfrfoan) 1+1+1=3

Eiikd

(31) I IIRP DT TgrrdT I AAfHAT & A B SR ST
2, S92 YFIcHD SOIRD DEd &l & KUMHD IIRD
RIS JAYTHAT & 9T DY HF IR &1 STEumf-
¢TI SR -

NO

2802“‘02 2803
SRUTTCH DR —
2H202 o 2H20+02

(3) S rEeT § Jifies I HAT o W I BIC SRI §
TC ST & S/ faea smee | et At &t wfera an
ST T H Rl URT yalfed ) W a8 g gl
FHeNs TUT s W Ar=1-r= Ieurg 9491 &

() e (TN a1 Fgw) Al o g a1 &1 4 3Mfen
AYBRD O H FAN IR b & I S & 991D
foeRmam rf¥fopan o Ua S1fiRes H IUfRT WA a1 T8
SR ANBRD b URATY IT F9g GRT feTia g gl

S WA A T AR 22 AP dTfbl P U@ GThi B
M feiRau| 1+1+1=3

I

3 Welt- 39 TBR Y &t § A &7 4w i gt @
STefTR IRG IR fem ST & g aRvmeeasyd @@l & g it
IRAT § gfg B9 A - v et waa H o Fawel gl
IERAT PH B W & 7 T8 fafdr e St g

|IfTE ATt & S 9 gedh- (1) PR aifh qer (2)
T faumT GRT eI, Aedi, IUArd NS AW FFl W
AR TaeIadrat St Ifef &g JERITU FHAT FA

A 99 & 99 I {5 T S 82 S U9 qRYast &

Fefer e & e foRau 1+2=3
SR

. TS, oreget e Bl RIS Pal Sl 8, i g
%3 AATgell a1 SMfashR fha e

31, TaTT AIReaN) T gty fasteT H gieM- €. AR 3
urey YU fae w9y wRf R g qur e R uiey
fopan e & wefsmr 9w 93 amat & i R Fal &
faftr= 9mn & FHHE 9vur gRT gfg aRM § gt Aetdn
Hikskeal

: fr=ferRaa At & TUPAC =9 forfRaw -

(a) CHy - C = CH,
I
CH,
(b) CHy— CH = CH — CH,
(¢) CH; — CH — CH, — CH;,
| 1+14+1=3

Ci
IR

(a) 2-9fdF-1-md=

RBSE 2018 Solved Paper 10th Class

Q.21:

Q.22:

Q.23:

Page 3
(b) 2-ggH
(c) 2-FART A
3RS AT B §7 STURMSE Tewu & o avidl Pl THST
1+1+1=3
IR

3aferse- U AT srifed A1 thas Y g ugrelf @1 Jrufine

ueref dEd #1 J o UBR & 2 E-

(31) BN 3feTSe — ARUTerenT & FaxT, 3ifenfies smfine, HY
arafiee, anfel

() g emfdne - IemT &t ot v argAt | e gl

() TRt 3ufie - arfed Hel, 3iienfie -, I57®, Ml

J9fIrse yawee & 3 aRIb AT §-

(3T) QA TSHUT — TR ST G: SUANT H 3T Aepl dTel SAURMSCH
B 3 gt & Ped g1t & oIy SuanT fRr ST gl
SETERUI- SIehSl, ellgl Ud 3 YTy, BT, IR 3|

(9) HFNET - AP AT AFABHD ST Iaferser ;
SRI- ERe] PeRT, TSI, UGy JTUTRISe, 371 T ITIM qH
q qErex W@1g fgior & fopar S g1

yqus-d

(31) XM Pie & i &1 A fARau|

(3) TYASE-UT | U &1 SedTa) B ARyl

() XM PIe TRT XM BT YA B T—T ST 87
1++%+2=4

IR

(31) 9™ P & @l P A9 hexfeiR @l gar gl

(¥) (1) 28g (2) 7yAH

() 9 Hie & 3T IURT & 1 3{US A AT qTeR b1
g S g, R Fefier @ed g1 @t § I Siel dR
TfRpT IufRd gt €, S o Yo afRuaT wgarct 1 59
quf e Rid 2 91 €, 9 I8 X9 BT HAU 5 b HU H B
2 ST g1 & F0h H M IR $HoR & I 2l PO 9 q1G
FTat AT BT G IR T & T 3 R P AT @
ST ARI 3IR 9 BT AU IR T IFH qUId: I @l ST
21 PG ST 1000-1200 HIeR & X9 & BT BT &1
BT &1

Fchd U T 22 S Fy, N BT Fepwor Tt gt
S A RIT ST 8, A WIS Sl § A0-TT g S -y
3T BT AT | 1+3=4

IR

GoHH WARUT- I8 Hoxul e ‘A’ a1y (TT) & R T ‘B’
qIed (tt) Y AIGT 6 S HF F TGA BT ST g TAT TR
HAxor § ‘A’ urgy (T'T) @l 711 g ‘B’ (tt) UGy & 7R S+ dh
& w9 H ygaa fbar ST 8, S99 gehd WaRv (Reciprocal
Cross) &g 2l
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T 7R H diet Mel qerr & FeR I aret g o diel SiaRior & ke fobam awelt 2 iR sifasiieRe &1 Hif
H HPRT HRIAT ST 7, A v diG (F,) § quft daw dte ma IIER el gl
Jorr diel <7 atel B ¢ Cl, + H,0 — 2HCI + [O] Re1figeh ffawfer

TR g Rig @i 2 & it @1 dier 1 W el aeR A aeref 4 [0] — T garef

THTE T & TUT BT I TG FRICR SMBR T 07 21 Fy At @)
& didl § F-RA0 R R F, 9 7 IR 7R & 7 are

—

v ;;mﬁa L o = d}ﬁg‘”:;mm“

Ei)) ?ﬁgﬁ;ﬁr-s .. e %m

é%igﬁﬁa;@ﬁmwmwmg_ e s 5 5% O*—bmsg;;gw
45 A T

7Zn + HQSO4 — ZHSO4 + HQ )

Q.25: (37) 3N & FRIT BT TR vt T T Nereh TR Q) Neror

UTH PRl 8-
1. [0.50 =RR 2 diee
2. | 0.75 TR 3 dlec

T We0T & foly aTeieh R &1 UfRIY S1d iy |
(3) 250 BT ATZHH B GRRIY Puselt Pl 12 dlec F Fd-
TS dd (ded) F Siisd € @ 39 15 e 9% faga
YRT T@Ted Bl ST g1 Puselt § Icq~1 SHSAT Pl A1 1T

Hifr 2+2=4
IR
(31) W Waor & forg,
URT, I = 0.50 TR
diecd, 1, = 2 dlee
. _Vi_ 2 200 _
o R, R =L = G5 = 5y =4 9
focitr seror & forg,
URT, L, = 0.75 TURR
ARSI = e el | 7 e N géaw we gHEw @ 3.3 ) dieest, V, = 3 dlec
Mered SgaE - 1 2 1 22 4120 Vs 3 300
. — Y2 _ 9 _ JUU
3: ARRIY, R = 7 = g5 = 7
R =439
(3) e g,

Q.24 (ar) R 70T 1 1 RRITI ST RS Rpa 1 oSy ghq dR BT YRR, R = 250

() Zn U1 § & H,S0, § & areh v afifear ot Tl Al Pl dleedT, V = 12 dlee
RGICRRCERRIET 24+2=4 T, t = 15f@Fe= 15 x 60 = 900 JHUS

IR T ST 8, Pusell § Icu1 SHSAT Bl 7H,

(a1) fesTen 9ot 1 IMD 7 CaOCl, (Hicaad e — H = I’Rt (1)
R1g8) Bl & v
faRores ool 718 T B SURIRY § e T ST S T I'=% ~(2)

5 S & fhar @R Fawna effaddlsE (O] st g1 I8 FtepRor (1)  (2) & 99 &1 R,
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2
H:<K>2><th:%

q R ), H =12 12 X900 1225X N0 _ 5184 s

Q.26: (31) 40 kg &I TP 9¥g W & ge1 oW A 3T 97 1 Hez/

JAPUS A IR 2 HIcx /ADBUS &1 ST 21 g1 gRT fpar
BRI ST DI

(F) K=4 x 10°N/m &I fraie & v [ o 2 a9,
Fifed o & B & dfyd Rufes st s i
2+2=4

I
(%) fear g,
T BT GIHH, m =40kg
IR AT, v =1m/s
ifem o, v =2m/s
PR} Foit THT gRT b T B,
(W) = it it & aRad=
—%va %mu2 —§m(1)2—u2)
:%m(v+u)(v7u)
1 @ R W:%x40(2+1)(2—1)
=20 X 3 x 1 =60 S
(3) fen g @1 fadis
(k) =4 x 10°N/m
FAET (2) =2cm = 0.02m
g S &,
T ot Fifed o A fomar mar @,
(W) = & ha*
W =3 x 4% 10° X 0.02 x 0.02
_2x10°x4 _ 8
B 10000 10
W = 0.8 Sl
& @ Adifed o= | fopar m orf
= B § dfaa Rufest o
31d: E, =0.8 St

Q27: Sg-RAffudr fFd @ad §2 TFUM g IRTAF FREU B

BSEEIRY
TN
Sa Rftuar- gedt R SufRd sha-sgal § oy S areft
Ry, favsar ger uRfRfRR SIfeerdar o) Sa-fafduar eaa
gl

Sig-fafdear dRemr o =7 S AR g e Sirar 28—

(37) TN WA (In-situ conservation)— VAT TR S

2+2=4
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UTfcres 3T H & AMa GRT Ued STRem | fhar s
2, TN HREU BT Bl ORI Hdherd uonfa @
TRI&T AT BT ¢, Sh AR FAMT UTepfereh Tard H
B gt URFRURT T JRer Suered aR1s Skl ¢l 395
I Stiaavse ReTd, ISR eI, IHIRUG AT HRE0T
o1 anfe &t e Y St Bl

(9) afg:3am Gxefr (Ex-situ Conservation)- S99 UeTfaa
DT ISP UIPfidh ST H IIER B START H ARE0T UG
fopar ST 81 39S o aFeufie SaH, € §@, Sae
HaL TSI IMfE Y T Y S 2

OR

argafire fafdear @1 g2 Sla-ffdudr dee & I HROT B
AT | 2+2=4

IR

3aferes fafdudn- v & uonfr & [T Jewi & fi= o

WWW(gene)%Wmﬁﬁmﬁ?ﬁTaﬁ

A fafaedr Fed 21 39 TR i fafdudr we & weify &

faftr Sivear wgl & A urft S 1

Stq fafdear & Hae & dRUT-

(31) HThfere ATl &7 71se 8T (Habitat loss)— Tdd® Sfiq
3o e STaT H YgaR Sftawimd= g st vt § gfg
AT I 2| Fed g b DR gH MMaLIharsii Hi gft &
foTq TTepfcres aTamAl ol Tse IR R § | a1t ers, aefa
& M, B Y F1 AR, Tediasur, -1 A, Ie-
gl &t TR & fofy FRmeR =1 1 AT R ST T B
T BRU SafIfIudr T¢ 8 & 8 U1 Siai B faegeieor
ol 71 <@ g

() Tﬁa?ﬂﬁiﬁﬁ?ﬂmﬁ?ﬁm (Industrial practices
in Agriculture and Forestry)- gRd i<y q;cf g
T o Wl ® I f5emi & o1, %, Fesit aMfe
I qorr AR Tl & Uy @d A1 =g T |
31ftres IeuTe i SAlerl § aidie H fhaM SadST 5
ToTIforat Bl & I § qUT 31t Iures o atel ugg A
R Al B E WEd E| T PR Al Safdfdedr
TSt & T8 et S <@ R

Yus-q

(31) ear ot e 872
(3) 999 9999 dF BT AHifehd il S8 |
() g &Y pafafes Tmsmg

TN

(37) a8 fopar PRy ifdrer & e difiiel @1 arfaiiaRor
BT &, 99T dean gl

()

1+2+2=5
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" SIUC a1 SR
() gvq it fpafafd (Eechanism of Respiration)-

PG 9y Faed hwsl (lungs) W a1 &1 Wd9
Rt & e &R ufsar & S R i @ smam
AT 1 39 EIREEEIGE % oIy 999 &3 (Respiratary
system) ARIAVSA AT iU b HET FUNCHD a1 TUTIT
(Negative pressure gradient) Ud SRI%M & AGa- Bl
SRANT BT €l 39 PRUI IRIAVSH ¥ AfD Sa19 arelt arg
Hhhel H A9 Rt gl
9 foham 2t axont | gt 2-
(1) amar 9999 (External Respiration)- 3 I @t
T gar &1 AR GfUeprati o it § vared I
% Teg 10 & 3Nifdd g &b IR P HRUT BIdT g
(2) adafk® a9 (Internal Respiration)- g9 a1
o1 fafe s pferepra ¥ TaTfed Yad ToIT Sclehl bl 7E
foRa=or & A1e | g gl

OR

Q.28: (aF) ATgral H wreifie Sifte 3T @1 M farRav)

(¥) 11 S99 95 @l AEifed i s978d|

() 9T UST D §F AT DI FHSRY 14+2+2=5
I

(a7) Areralt o ureifies oifitcs 37eh T AT 3USIeRT (Ovary) 2
()

(37) 7 o Yo &) s e -
(1) g™ S - D] S FH0 B Afchar gmeer
PEAR gl JHPST H S PIREPT H TGl
fare gRT Sy eifral @1 fmfor g g, S
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JEH BgAd gl R H Ihor ARG F TR
PRGN et §, S UF: Tt geporati § gga STl
21 FICT H STUSSIA A1 DIfADRT o S [T gRT
g TR PIRBIRIT H A Pbael T & PIfpl IRuTd
BIR JAUSTY] T A0 et 2

(2) Y= - TR g 7157 gHD & T B Y B
g1 It R & g1 M R 6 Fgmar 9 9 B
SRR H BT & Theredwd UeaTfeH! § IufRUT TUer]
J e T (Fuse) @91 A= wgaar g1 w1 fAves
T=dfe A= (Internal Fertilization) gairar 2
o heRaeu gt (Zygote) @7 fmfor grar @

S fefr g 2

Q.29: (37) 31 ARV F 5 scffep & e gRad Farstear uelia

Q.29:

Q.30:

A 27
(3) UM BT ABR AT T YA | T 8Ill &, T ?
() CaH,, NaH, SiH,, AlH,
IR Aifept & Ca, Na, Si dAm Al 6 FAThaT a1z |
1+2+2=5

I

(37) 3mad ARV B d—slih P dcd URdd] STl Hefdid
PR B

(3) FOMT & PR Aqd AP WA URAN] A T 8l g
FIfH FOTIT 9 TR SolagHl $H dwer § gig gl B
AfehT Ml & T W P IHT -g) Jeall 3rd: T
TR AT BT 7 B & Sar 7, SRy b e
HIT 9 & T H gfg & Sl Bl

(¥) Ry v it (CaH,, NaH, SiH,, AlH;) & Ca, Na,
Si T Al Fl FAISTHT HHeT: 2, 1, 4 TAT 3 Bl

OR

(31) gl a1 Sugett & T faRau

(3) foreft armact & 9RF | SR STH WR OREI] SRR R HhR
aRaffa BT 8 ? BRU Afd THe |

(7)) FrfeiRad el &l S I gU URATY JATBR b pH H
IafRId HIRT

Na, Cs, Li, K 1+424+2=5

IR

(a1) faferp (Si) T IRAMD (As) IuuTg ¢l

() foreft ot # aRf I SR STH WR URAIY] SIPR HH Bl §
T JHTe ATRBRT ST §G &b BRI I Feldel Pl
A1 hY 3R 31fers ABT A BT B Bl

(]) Na, Cs, Li, @11 K < URHIY] STHR & el o F=fetRad g—
Li<Na<K<Cs

(31) T | P& T Ugel W& RT & $Y THI 42T ah
¥ fomarg < 8, PR Tse Hif|

(§) o wp1eT & ot fadmor ¥ R iy 87

() wemre & quf STaRes TRTacE & 1 aread 82

(T) T addt o | ufifers &1 g9, g @1 fowor o
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1Y, STef fog 3w Ud 3P ThIIh brg ‘O’ & Jeg
R gl 1+14+1+2=5

IR

(37) 31T YATe T fafraa JEie- 9 g 4fe 9 dier
I BT g, O P9 FuE 9y | MU e arg 7 S <@
T &1 ep1el A B AR uafia BT 21§ RS
ac & HRUT g RN ¥ HIR ST gam FhT B 2,
STsfeh aeqe: g faiferst o efteT i g €, g¥fery iy
R GIICT | T 2 e ugel ST 11 Feh gl 39t
TR IRGAUSH T e P HRYT Rt & el I & 3t
BN & A Wt gF P a2 fiFe 9% <@ |ad gl

(9) aof fRR&qur- g 99q w1 hit fopror St aReeff g 4 &
ToRaT &, A a8 3T 911 A faaford glaR fom & smuR &t
3R g S & T A1 (AT I &t o o famfoa
ft @ St 21 & ool 9 firow & qad iR W g ud
TR U I gee! 79 St gl
T UPR I A= 0 & Fg P qUhA AT FFgH
HEd & AT & HBIT o 37U Il Tl H faved g A
G BT THTE HT Ui fI&T0T Ped 2|

R (e

O ()

¥ (d¥em)

G (&)

B (+tem)

| (S
v (FTE)

99d U1 § Waed & qui fedE g 81 39 99 quff
AfcRed & UTH 8 T g BHRYT I8 & S - i
ool fopeft ATew F aremT-otenT o |/ Ay wRclt B fatd
& arfciRa famdt oft wrew o et I1 & vepTer 1 AT S
J1 P YH F AP BT g1 I UG P UL S
a1 Y 0T e Y TR e STy g el 21 N &
fagraur & o @t (VIBGYOR) SitemgdiHrar & +ft Sim
ST gl

() qof s=aRRes WRrae- A TpTer A1 o ATA Pror B
3T SR IR b Taprer Y faur faver dreaw F sruafla
B9 & T O e ATegH H € oRrafeld g oiret 21 39 guf
SIS TRTac Ped gl Wl =g (optical fiber) gRT
FaR H 3 T9Ta BT IuANT fhar ST gl

(3) @ forg <fifta g R R &r- IR i sEaa o9 |
ferely <R o o) BT & (3T I HPIRIG e & Hed)
ar forg @1 st e ve forg 9 wier wfifers g7ar 2
S-S forg @Y T & HIT AT TR, a9 ufifse @

Loogodg
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3MBR TG STRATT fIheg ST MBR gHel e g (a%q) &
BIcT & gl

OR

Q30: (37) T | W Brg & o F Al geft g I URrer et

fozarg <t 8, 2

(F) o P emar & 7T AFPIRT B2

() wg = | gfee vy QY @ 8 ?

(T) Uo 3radel gUuT A WRIfST BT g1, g @ fawor f
1Y, STafh S 3% aghall brg, ‘C’ T Bids ‘F’ & 7eg
R &l 1+414+1+2=5

I

(37) et & U H g Y UWT | Sl UebIe & T Uged g,
Ig UfRTA & T P 916X b 9T | 37H dTed TereT | =
fEam @ a7 ganm uefla g g1 s ufRee @1 gl &
TR e TAT eeT IoT gaN e < B

(F) o1 Y emrar- fedt o7 gIRT Taprer faon ot SrfPRaRor ar
JIRARVT ==t Sl HTEAT DI SHD! &9l & ©T H Fad fhar
ST €1 4 38R P GRT FRefid &h”dl 2| et f b g3
& i Pl e

1
P=7

o P e @1 SI 9 STS3MTeR 7, 9 38R D gRI
ST ST 81 ST ofd Y &l Ui U4 3fadel o
&Y & SRUTEHD B 2

() gfee-dwa Q- gfee—dw=r QI AT SAfgehat QA F F9H
T R T AR oI SeaeR awqy v @Y e s
T <<t €1 39 QW b BRU W & g W T AR
Feafer gEY AT | TF A B T8 gt
SIfegar &1 SR - BT H Merrg F rFRIA &
HRU A7 H TE QY g A 2
a1 - 59 QY & R 8 SR Piep g 1At Fghelt
3T gt JATPR A=Al BT TR fpaT ST B

(3) rader gdur A ufafda &1 g=-1-

farg
Bf vAl
lc F
A’ gfgfara
=9 RUfy o ufcrfers &t fRART aghar deg C T 3Fd &

e gft @R ufiferg &1 ¥y 9 SMPR IRdfdd 9 el
3R ufcrere & g7 8N
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